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GS ' Selective Level Paper 2 answer sheet
Question 1 Question 2 Question 3 Question 4 Question 5 Question 6

48.2 [ 1) 19:25 [ 1) £3.02 [ 1) kid [ 1) 10 [ 1f 865.149 [ 1]
4.82 [ 1 19:35 [ 1) £3.82 [ 1Y lid [ 1 100 [ 1f 894.651 [ 1]
482 [ 1 20:25 [ 1) £3.18 [ 1 hid [ 1 1,000 [ 1f 986.541 [ 1]
04 [ 1fl 20:35 [ 1f £4.18 [ 1f bid [ 1} 10,000 [ ]1]f 968.451 [ ]
400 [ 1) 21:35 [ 1| £4.72 [ 1f did [ 1jf 100,000 [ 1{ 986.415 [ ]
Question 7 Question 8 Question 9 Question 10 Question 11 Question 12

9 [ Wx=2 [ 1l 37.76 [ 1l 129 miles [ 17 [ 1|l y=125° [ 1]
10 [ Y x=3 [ 1 37.77 [ 1l 192 miles [ 1] 18 [ 1l y=130° [ 1]
11 [ x=4 [ 1l 37.78 [ 1l 228 miles [ 1f 19 [ 1l y =140° [ ]
12 [ Jfx=5 [ 1f 37.80 [ 1l 248 miles [ 1 20 [ 1|l y=145° [ ]
13 [ x=6 [ 1l 40.00 [ 1l 258 miles [ 7 21 [ ]| y=231° [ ]
Question 13 Question 14 Question 15 Question 16 Question 17 Question 18
£6.30 [ 1A [ 1|l 10:05am [ 1| a=9,b=27 [ ]| Sunday [ 7 A [ ]
£10.70 [ Il B [ 1) 11:05am [ 1l a=9, b=63 [ 1l Monday [ B [ ]
£11.20 e [ 1] 11:35am [ 1l a=9,b=45 [ 1| Tuesday [ 1] C [ ]
£11.70 [ I D [ 1f 12:05am [ 1] a=12,b=45 [ 1| Wednesday [ 1| D [ ]
£13.70 [ 1lE [ 1] 12:35pm [ 1| a=12,b=38 [ 1| Thursday [ 1| E [ 1]
Question 19 Question 20 Question 21 Question 22 Question 23 Question 24

14 [ 1|l 64cm? [ 1] 60° [ 1 14 [ 1 23,20 [ 1] 10 [ ]
16 [ 1l 128cm? [ 1] 70° [ 115 [ ] 23, 28 [ I 15 [ ]
18 [ 1l 134cm? [ 1] 90° [ 16 [ 1f 20,28 [ 1 20 [ ]
26 [ 1l 144cm? [ 1] 280° [ 1 17 [ 1 24, 28 [ 1) 25 [ ]
28 [ 1| 164cm? [ 1] 290° [ ]l 18 [ 1f 25,20 [ 1 30 [ 1]
Question 25 Question 26 Question 27 Question 28 Question 29 Question 30

9 [ ]| 30° [ 1 21m [ 1| 15.38 [ 1l 2,440cm? [ A [ ]
36 [ 1| 45° [ 7f 27m [ 1| 25.08 [ 1l 2.880cm? [ 1]l B [ 1]
45 [ Jff 75° [ 1]l 90m [ 1| 29.58 [ 1| 14400cm®* [ |l C [ 1]
63 [ 1f 90° [ 7 121.5m [ 1|l 11476 [ 1| 72,000cm®* [ 1| D [ 1]
127 [ ]| 120° [ 1 127.5m [ 1 128.47 [ 1f 86,400cm®* [ [ E [ 1]
Question 31 Question 32 Question 33 Question 34 Question 35 Question 36
0.26m [ )3 [ 1ff 1,050 [ 1] 18 [ 1] 4 LA [ ]
0.78m [ 1] 4 [ 1] 2,100 [ 1| 19 [ 1) 5 [ 1B [ 1]
1.04m [ 1|5 [ 1| 2450 [ 1| 20 ) [ I C [ ]
1.40m [ 1|6 [ 1] 3,150 [ 1| 21 [ 17 [ Il D [ 1]
1.46m [ )7 [ 1| 3,450 [ 1| 22 [ 1] 8 [ I E [ ]
Question 37 Question 38 Question 39 Question 40 Question 41 Question 42
$16.00 [ 1) 21 [ I 1/3 [ 1 12ecm? [ 1]f 8.75cm [ I A [ ]
$45.00 [ 1] 23 [ 1 2/5 [ 1)l 15cm? [ 1] 28.5cm [ 1] B [ 1
$70.00 [ 1) 25 [ 1 7/11 [ 1) 18cm? [ 1] 87cm [ 1] C [ 1]
$90.00 [ 1| 27 [ 1 9713 [ 1)l 23cm? [ 1] 87.5mm [ ] D [ 1]
$96.00 [ 1] 29 [ 1 7/20 [ 1) 30cm? [ 1] 875mm [ 1| E [ 1]
Question 43 Question 44 Question 45 Question 46 Question 47 Question 48
548km [ 1| 12,000 [ 1} 24cm [ 1| 1,300cm? [ 1 [ 1l 81 [ 1]
588km [ ]| 18,000 [ 1] 32cm [ 1| 1,950cm? [ 12 [ 1l 83 [ 1]
1,166km [ 1| 24,000 [ 1] 48cm [ 1| 2,600cm? [ 13 [ 11 87 [ 1]
1,176km [ ]jf 32,000 [ 1 64cm [ 1| 3,900cm? [ 1] 4 [ 1/ 89 [ 1]
1,196km [ ]| 48,000 [ ][ 128cm [ 1|l 5.850cm? [ 15 [ 1) 91 [ 1]
Question 49 Question 50

78 [ I t=2 [ 1]

81 [ I t=3 [ 1]

84 [ 1|ft=4 [ ]

88 [ I t=5 [ 1]

91 [ 1 t=6 [ ]
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